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(1) &
(2) B

(3) Q = 0.456[m3/s]
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2= 1rere VT Tr@rp
(2) G(J0) =K, G(joo) =

K\* K\?
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(1) i1(r) =3e'sin2¢ [A]

Q) () =3+e 3 [A]

3) R =R, 72 L=CRR;
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3y . _f
(1) %+ 20w % + wy?x = -

20 wys + wy?
s2 4+ 20w,s + wy?

(2) Gp(s) =

1+ 220)
1—02%+200)

(3) Gg(D) =

(4) 0 =02

(5) k =1600, c =400



[5] [E4R]

(1) merge_sort() {
if (3l a 23—)
return;
Hl a % =D DFicsrE]
merge_sort DFIFIEUH Lic X % i35 0 #7]
merge_sort & FIRMEONH LT X % #2451 0 E|
ZoDF R~ —Y LT a KN
}
(2) #4555 a6,9, 13,18, 21, 25, 26
#4551 b:3,7, 16, 20, 22
XL, Flcici, b DERDVERIPEMIN, 13
RIZ, a DERVERTHD 6 BEMHIN, ¢ 3,6
DIFIEICHEYIRL, #E% :c1c3,6,7,9,13,16,18,20,21,22,25,26
(3) O(nlogn), &E
(4) 17% 534 123589647
WY AT 218593674
J& v 23T 289563741



[6] [E4R]

() ma&(t) +ci(t) + ka(t) = F(t)
1. s

@  w{t)=1+5sin <3t - 5)

B g1=79=5g3=6,1r=2

@ AT a4y Y ORERREE UL, 2EFORERNERS.
Ac> =2, Ak>—4, 2+Ac)(4+Ak)—1>0

ERTREND Ac, AR DHBEZHRTNITRE R 3.
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2) Ai=-1, fo=5
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3) fo>-05, K=



[8] DR
(1) EEMEEE V() = y(t)? ORI EMITT 522tk h, XXEE3.

u(t) = —By(t), 8>5

2) IEEMEREE V() = 5(t)% y(t) = y(t) + 1 DR Z s 2 Z LItk bk %
5.
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u(t) = —oy(0) = B3(#), B> 0

(3) IEEMEREE V(1) = y(t)* DRI D 2T T2 Z ITX DARZER 5.

u(t) = —By(t), B> 25



